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REOFE  1-1

2 | 4 =

1 ROREIEEROTRLUEE,

(1) 3 X 3 X 3 2) (- 5) %X ( — 5)
2 | ROEEKDIEN,

(1) 5 ¢ 2) 2 3

B3)( - 4)° 4 - 2)°

(5) - 2 ° 6) - 4°7
2.  ROFEELGE,

(1) (- 3)2% x 5 2) - 3 2% x 7

3) (- 5)%%x (- 4)

4 (- 4)%x - 3°

5) (=23%)+ (- 2)°

6) (—-6°%)+ (- 37%)
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&
1Ly 3° ) (- 5)°2
2
(1) 52 = 25 2) 2 3= 8
3)(- 4)?% = 16 4) (- 2)3 = -8
(5) - 2°%=-4 6) - 43 = -64
3
1 (- 3)%x 5 = 45
2) - 3% x 7 = -63
3) (- 5)%x (- 4)= -100
4 (- 4)%x — 32 = -144
-8
®) (- 23)+ (- 2)°%= = 2
4
6) (-6°%)+ (=32 36
= =
R CEZDREHE TS
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